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7] 393\ M & EEME 2 12. 09 7] 502| =4 K72 % W 2 12.37
0| 8| 245|F%M  # O 2 12.12 0] 8] 282|&E KiE [ & 2 13.31
3| 1] 236[FHE e [ZRKPE 2 11.99 4| 1| 523\ Mk [ B2 12. 38
ol sooliim Hw e JII 2 12. 36 2| 853[dkly WEX |fH A 2 12. 38
3| seslH)Il BWIK [k B 2 12. 47 3| 503[ kKAt —=3F [ F§ 2 12.58
Ml 4] 235|MH f&K4E [ K 2 12. 47 B 4] 250[AKM Kz K H 2 12. 58
0.4 5| 503|HJII khH [ m 2 12.50 o 5| 525\t  #hkE |[@Zm 2 12. 63
m| 6] 869[{& EiAE [E 2 12.51 m| 6| 875|fkx Kk BEfE[PR 2 12.70
7| 849\ WL [ OJE 2 12. 62 7| 853|MEF  ECEE [ 2 12.78
0 39317t KRB |EJEfm 2 DNS 8| 507|Hh By M Pk L 2 13.01
5| 1| 869N mLk  |E 2 12. 49 1| 255|/8 P Kl [EHEidE 2 12. 38
2| 853|EEE K3 [MH A 2 12. 64 ol 2a1|E=ir HEx A= B 2 12.56
3 204dekt  EH [ i 2 12.81 3| 208|4F¥E WEse [HIls 2 12.88
M 4] 2170=mE ABE [fEFSE 2 12. 96 ml 4] 217libl HBE [MEHEE 2 13.00
2| 5| 640|FEH EH |EEH 2 13. 05 0.4] 5| 527(#fH HK |E-FhE 2 13. 06
m| 6] 530|/RE K& [EHK 2 13. 06 m| 6] 849[iig % HOE 2 13.19
7] 530|FH A [JFEHE 2 13. 10 7] 352|EA  Hhik  (VOfEEE 2 13.78
0 522[%6 111 PIREF 2 DNS 0 208 EERk |HiLH 2 DNS
7| 1] 2626 A S 2 12.75 8l 1 272lili'F A L ) 12. 77
2| 368|mi)ll HRuE [J& 6 2 12. 84 ol 54041 BERK [HHVEM 2 12.94
3| 231 bR %k [BA— 2 12. 85 3| 2435  #E R 2 13.01
B 4] 183|WEA FHE O O|Em= 2 13.07 Ml 4] 263|HE B (B 2 13.28
0.3 5| 217[AM A WEHsE 2 13.13 0.2 5] 281l FA WBEE & H 2 13.36
m| 6| 523|FF@pl WRA [ B 2 13.15 m| 6] 805[32 B KX K Wi 2 13.58
7| 530(MEH  HEA [FHR 2 13.55 7] 366|ciE  HESE (K 2 13. 67
0 281K mA ||\ M 2 DNS 0 849|141 F5Ik [ OWE 2 DNS
9| 1| 875U/ FHAt [Bk g 2 13.21 10| 1] 264|@kwE BHfc |mMEIM 2 13. 15
2| 371|FHE o& [ERJIIJL 2 13. 40 2| 301|F  wE#HE M — 2 13. 38
3| 631 E #a [ &K 2 13. 46 3| 263|/hAk MER  [mH= 2 13.47
M 4] 366[nt R B 2 13.53 Bl 4] 906l 3 m 2 13.89
0.9 5| 412|4R £ JE 2 13.59 O 5] s323[yE#M EP |ME= 2 14. 00
m| 6] 303/7H i [KF-= 2 13. 68 m| 6] 369[fE fE BOE 2 14. 17
7] 243|#EE 1477y FK AR 2 13. 69 906|H AT EKEE [WE L 2 DNS
0 0
11 1] 906 kM &Rl [{E M 2 13.93 12 1] 270l KM [EME 2 12.94
2| 264|= g EIE [ 2 14.17 2] 268| K —K |mHJ/N 2 13.34
3| 522(M5 BHE PRE 2 14. 30 3| 908|fnMH HEE |[EYERE 2 13.72
Bl 4] ses|EA M&F [ W 2 14. 31 Ml 4] o8l B BT 2 14.35
0 5] 323[iEK KX PfAE= 2 14.81 0.6| 5| b2l PR 2 14. 60
m| 6| 527[HE Ot BB 2 14.98 m| 6] 640[{BF FHik [HELE 2 14. 89
522|F Yy ERK PMWE 2 DNS 7] 218|FFHF A UK 2 14. 99
0 0
13| 1] 302k —& [ 2 12. 89 14 1| 270|FkB #udE AWt 2 12.13
20 943\ EBF (L FRMI[BrEIE 2 13. 14 2| 263[iLIR  BR EH= 2 12. 52
3| 268| =4 FEIr [EHN 2 13.49 3| 30204l #ER [(HHF 2 13.33
Bl 4] 805|H¥E HEK [K W 2 13.73 Ml 4] 943[%iE  H HRE 2 13.49
0.4 5| 263[H wWEH |EH= 2 14. 02 1.4 B5| 277[#k¥# K & 2 13. 61
m| 6] 270))IE GLEE |m#i 2 14.22 m| 6] 268k i [EHL 2 13.71
30[PE L FHE  |ewrov-m 2 DNS 70 809[MEE  ZER WE JIL 2 14.99
0 0
. HREHF24100m SALRBOBER
iz 85 | & % E T | A
1 ]323 [dhk &3} ME= 2 11.63[+0. 9
2 | 726 @ —& E E 2 11.77]+0. 9
3 | 282 R #HE 2 8 2 11.80{+0. 9
4 | 204 [iRE pE= T 11.84[+0. 9
5 | 303 38 [h#t BAE=Z 2 11.95[+0. 9
6 | 352 |gex ik PUiEE 2 11.97]+0. 9
7 | 236 |[FiE xth HAFAE 2 11.99[-0. 4
8 | 393 [Bm E EEHRE 2 12.09[+0. 9




HEBEFI3EFE100m
e B2 | B % T i | #ME B2 [ B % T ik
U 1] 234k fEpE |[EE— 3 11.41 2| 1] b27|MiAKR  BEKEA|E - &Ik 3 11.55
2| 503|(FpE YEik [ P 3 11.55 2| 5020MiE EHE [ M 3 11.71
3| 309[4Ed W kM ZE 3 11.58 3| 204[WHN #K— v W3 11.80
ml 4] 213|F it | FHEE 3 11.72 Bl 4] 242/hAR FEREAH E 3 11.88
0.6 5] 457 &Kk |#FFE 3 11.72 0.4 5[ 309|EHA [ A B3 11.92
m| 6] 302|{E HIE [HF - 3 11.73 m| 6] 309|HF HEA [H FE 3 11.97
71 875 R 12.03 7] 236[lE R ERK O|KAKE 3 12. 11
0 8] 507[ERpPE  ERER [P 3 12.23 0 8h3[ A JROKBAIRH £ 3 DNS
3 1] 238[#AAR  BEL |KARE 3 11.99 4| 1| 204|BEF wmE |KH b 3 12. 08
2| 5253 F BEA [EEE 3 12. 02 2| 9083+ #HK EepE 3 12. 10
3| 205(¥EER  HEAE [WREH 3 12.08 3| T22|[FEH BERK |— R 3 12. 17
Ml 4] 24408, FHREE [RK F 3 12.16 Ml 4] 502|EAR WA |[E M| 3 12.29
2| 5| 363|FiE Afwm |FHIEE 3 12.19 1.2 5] 234|)=H EA [#BE- 3 12. 35
m| 6] 366|Hx #Hizm (K 3 12. 22 m| 6| 4120FH wiE JE O 3 12. 41
70 303|HH AR [(MFHF = 3 12.26 7| 531[EEH Mz |2 & 3 12. 42
0 282[iAy 8 2 & 3 DNS 0| 8 b27Id M VEA [& - Fik 3 12. 49
5 1| 23| EET B FERE 3 12.21 6 1| 2750/ i Il #E 3 12.32
20 212|@i M &k [E@EE 3 12. 29 o 213l ER)II o |THRE 3 12. 43
3| 306|iE A | FHF 3 12. 39 3| S11Mad: Ik |EHA = 3 12.55
Ml 4] 2420k¥H EREEdR(# 22 3 12. 39 M| 4] 354|EA M [xFF 3 12.57
1.8 5| 236[R#® BEA KA 3 12. 39 1.7 5] 363[¥  HAN M 3 12.58
m| 6] 255|/hvky  fERRCK|EEE 3 12. 39 m| 6| 412|F 85 EEA E 3 12. 62
71 236[Fim & KA 3 12. 42 7] 511[lEAK  ERBE |EHmEAK= 3 13.10
0 8] 2508k @ K H 3 12.62 o[ 8] 282|ILF @B [Z A 3 13.27
7] 1| 73504 glkd | A 3 11.87 8| 1| 735\t BEAE | A 3 11.90
2| 234|LhAR Pt EE= 3 11.94 2| 235[yhH Bk | OK 38 12. 11
3| b40|RAS  BER  [BAYRML 3 12.01 3| 2341 B [(EE - 3 12. 15
Bl 4] 393[frAT A EEME 3 12.21 Bl 4] 393\ EIKEIEREE 3 12. 33
0.2 5| 362|#1H Wk [HFEHR 3 12.24 0.1 5| 908]lg )il Ewm|EyE=E: 3 12.37
m| 6| 869|HK g E 3 12.33 m| 6] 649|¥&E fEX \HE 3 13.31
7] 934|iiAR B |[fFZIT 3 12. 38 7] 523|FEWL HEE |E B3 14. 13
0| 8| 511|#eE BT [EHMA= 3 12. 40 0 S511[BH & B 3 DNS
9| 1| 805|mAk K& K W3 12.13 10l 1] 934[dkiH  #e 2L 3 12.12
2| 934|F L Rk [{FEZIT 3 12.38 2| 735|40m  FE |+ A 3 12. 46
3| 649[FW w2z JVHFE 3 12. 47 3] 805[ILAK K | K il 3 12. 52
ml 4l o81l&) BmE I& B 3 12. 49 Ml 4] 934[iEH BH |[Ezir 3 12.59
0.8 5| 5045 EEZ BHA— 3 12.52 0.2] 5| 205[ZFJ% FH [WREL 3 12.70
m| 6] 640/liA & iEEE 3 12. 68 m| 6| 212|mk k¥ B 3 12.96
7] 868|'BE Thix (M B 3 12. 81 7] 869|K% FEK |E 3 12.96
0| 8 213[NH k% |[THE 3 12.91 ol 8| 2753k A #A |JI W 3 12.97
11 1] 281fmilH &% & B3 12. 36 12 1] 24155k EKRK = B 3 12. 39
2] 892\ F HAE [0 ¥ 3 12. 42 2| 243k W ot (ZRokde 3 12. 48
3| 8920\ KRFE [Jn ¥ 3 12. 48 3| 21205 #&E [EEE 3 12. 66
Ml 4] 892(NH = M E 3 12. 61 Ml 4] 262\<H #EM [E# . 3 12.74
0.1] 5| 262[F7B W RRB|EM — 3 12. 62 1.4 5| 304|@m¥ EE [HFHWM 3 12.85
m| 6| 235\l EKRK | 3 12.81 m| 6] 231[k&H 3 BAR— 3 12.86
7] 622|i5k  FoE [ F 3 12.90 7] 649\#3  AAE [J\HIE 3 12.94
o 8] 208|F%iIL 7 Hills 3 13.00 0 ss2l# it ZH |k F 3 DNS
13[ 1] 5043 #— |EmHAk— 3 12.73 14 1] ss2|filh FHK |fE #FH 3 12. 61
2| 882|HipE fKBES|{E FH 3 12. 86 o seslkt E %= [ B 3 12.90
3| 735[yhidA ez [+ A& 3 12. 89 3| 262[FFm Eydr |EMI— 3 12.97
M 4| 133000k WU [Em= 3 12.92 Bl 4] 864|E fozz B # 3 13.01
.1 5] 218]E% bt [IhmE 3 13. 00 15[ 6221 —3F | F 3 13. 06
m| 6] 304|A&AH & AR 13.04 m| 6] 218/FA AKA&A[ILHEE 3 13.31
7] 205|f R f&EH (MR A3 13. 07 7] 864|iLAR YR [JH H#H 3 13.43
0 8| 531[EHE KB [= & 3 13.28 0 8| 250[&F:P Be{h [ K H 3 13. 44
15[ 1] 304[49¥ b [#HmM 3 12.78 16| 1| 306[miM Mt #& F 3 12. 77
2| 864|fRIT @k [JA W 3 12. 86 2| 238|/Ew] JAHE [ZKAKE 3 13. 02
3| 243|575  VEE KA 3 13.05 3| 133[EuE i EH= 3 13. 45
M 4] 304[ZKH LUy (KA 3 13.27 M| 4] 364\ BK |BOFER 3 13.48
0.5 5| 244|fRH  Fjk [K F 3 13.30 2| 5] 649|181l E&E  [JVHME 3 13.66
m| 6] 882|KH 3% E &3 13. 34 m| 6] 244Kk @EAE [ K FE 3 13.78
70 362|'mEl FHEE [RFEHE 3 13. 48 7] 507[3T R EBEE (B b3 13. 85
ol 8] 272]=J)Il == [Pt 3 13.64 0




17 1] 502(%f7r —H [ H 3 13.12 18] 1| 540[#k[H] St KRR|BHIEHL 3 12.95
2| 363[EHE K EPE 3 13.63 2] 210[BFH  J&E= [WRHES 3 12.96
3| 523|miH  fkE (M B3 13.67 3| 255\¥TH SEYE [EAERME 3 13.20
M| 4] 245174 Fokd [ BB 3 13.70 M| 4] 214|80H  Edy  |FEILUE 3 13. 27
0.7 5| 245|kEu & O3 13.90 0.7| 5| 363|KyE —& |HiZEMG 3 14. 43
m| 6| 652\ HE  [FEHH 3 14.32 m| 6] 530|E &K [EM 3 14. 49
205 FE  JE JNEENE DNS 7| 255|EMh = MRV 3 17. 30
0 0
190 1] 272[#& W Fokt [PTEE 3 11.82 201 1| 3050 Fth [FHE O OH 3 12. 12
2] 261 |KE Fs [E#l— 3 12. 08 2| 261K fK# [mf— 3 12. 34
3| 3058 H  EBE [H WM 3 12. 61 3 211{mn K |HiTreE 3 12. 66
M 4] 305[#E¥K I B OH 3 12. 61 M 4] 210[JI1  #ERBRIPRHS 3 12.70
0.9 5| 210{@EF  H RS 3 13.13 0.3 5| 2121 KM HEMG  |EEEE 3 12.81
m| 6] 132\ A&K A |Em - 3 13. 34 m| 6| 238|FA HEXK KA 3 12.91
70 b40|pEAT  ShdR [BHIRY 3 16. 84 70 211 1ligy  Z= HiLE 3 12.95
211[BEA WK [HiTs 3 DNS 0
21 1] 270|#JF fEK |m#iE 3 12. 33 22
2| ol1(BEH Ha [HiTH 3 12.55
3| 24201l HEFE (W E 3 12. 62
M 4 210(NEE I [PRHES3 12.63
1.2| 5| 305[3A& st [H M 3 12. 67
m| 6] 237|KE FEMBIAAR 3 13.18
7] 238[{BAR ML |[ROKE§ 3 14. 06
0 0
) RZEBEF3HF100m 24 LRBOFER
EEEERNE T Rz | A
1 | 234 |+ {588 EiE= 3 11.41]-0.6
2 | 503 |{#BE @ik A m 3 11.55[-0. 6
2 | 527 A EBAH [E-EH 3 11.55|+0. 4
4 | 309 |[#E EF W E 3 11.58]-0.6
5 | 502 |jnpE E 46 = @\ 3 11.71]+0. 4
6 | 457 |=3# &K WERE 3 11.72]-0.6
6 | 213 [EHR #th FER 3 11.72]-0.6
8 | 302 [#E =IA wAE= 3 11.73]-0.6




th 2

BEF14£1500m

JIE AL | I5Y 4 ER v C RO 8K A NEAL [ 5 I5Y 4 ER RLEK
1] 218|miME  BHA [IWEE 1 4. 40. 88 1 2] 362U BEZTRER 1 4.44.03
3| 2048k WS, [mwrc-m 1 4. 44,84 4l 204635 K lmwrc-x 1 4. 46. 26
5| 241l 3% = B 1 4.53. 65 6] 218|/c K ILHE 1 4.54. 08
7 213|HFAT BE O O|THE 1 4.56.91 8[2052|4k  L—BB  |mwrc-x 1 4.57.58
9] 364|#% T ML ER 1 4.59. 07 10| 525\MEA FHHE |[mBrE 1 4.59. 77

11| 504[FAK 2 BHA— 1 5. 02. 40 12| 875[ LAf Rt Bk m 1 5.02. 46
13] 369|ERy  JRE B R 1 5. 04. 28 14 24431 B4 | K £ 1 5.05. 07
15| 208[% & & Hlis 1 5.07. 41 16] 2508 KFH K H 1 5.08. 37
17] 367(HYH IR |Moriim 1 5.10.28 18] 2049|& K R C -5 1 5.10.74
19] 268[#4A K |E#\ 1 5.11.66 20 272\f@7k A6 (BTEbEF 1 5.14.37
21| 275|HMA =k PJII 1 5.15. 44 22| 245\{THy  KHE [H BB 1 5.22.13
23] 231|9LH bz [EA— 1 5.28. 24 24| 250P%Hoc MEE. K M1 5.33.38
133|H i & [BEm= 1 DNS
2| 1| 272ltEdt  HERT [BTREF 1 5.01.61 2| 2| 5254 {EWE |mBrE 1 5.05. 75
3| 245\ ARFEE  HEAFE|vE BB 1 5.11.14 4] 3e6la )l EwE K 1 5.13.01
5[ 530|f&7k WESE IR 1 5.14.25 6| 530|EME  IEIK [WEUm 1 5.14. 60
71 o62[fEAR tHE IS 1 5.15.63 8 281|+HH —H |&m M 1 5.16. 11
9| 281|miHl  MeiME & B 1 5.16.85 10| 352|fRuRF AT |DUEEE 1 5.19. 61
11 649|176 #fLwl P\ECHE 1 5.23. 60 12| 523|448 MEX & B 1 5.24.85
13] 805[#EM W— |K W 1 5.24.85 14] 217 K% WE  |[#EHESE 1 5.25.23
15| 303[JRIE BX [MhF = 1 5.26. 15 16| 363[4E F =* |wizEmE 1 5.26.16
17] 282[EAR fiK |2 & 1 5.29. 29 18] 412[°Ff FnE | 1 5.29. 52
19] 244|MA fM4E [K E 1 5. 38. 21 20 892|HMH  FEHK | £ 1 5.39. 04
211 868|iliye  f&th |4 B 1 5.39.30 220 133|HE B EH= 1 5.45. 31
23 132|@kJF Wak  |Fm . 1 5.48.18 24| 892|%F iR m_E 1 6.13.64
SLL[ZcH A [EH= 1 DNS
3| 1 2420EMWm "= 1 4.36.19 3| 2 242|mM f&{~ | T 1 4. 39. 38
3| 242[FokfiE UAK|E = 1 4.54. 717 4] 245K B4 |l B 1 4.55.78
5| 270|HH #hfH [t 1 4.58.92 6| 277 ZEK |E 1 5.14.98
7| 238|EH WIS KA 1 5.15.18 8| 305\ (LM %% @ H 1 5.17.23
9 302[fEK S EF— 1 5.17.28 10| 622| =4 & EOF 1 5.19. 24
11| 354[ FW BB [~ 1 5.19. 30 12| 892[#m = - 5.25.20
13| 2777 E  WE 5t 1 5.26. 42 14] 301t @R [ — 1 5.27.36
15| 270l BRI KRE[EB+ 1 5.29. 17 16| 352[8EEF HOK  |Duffmg 1 5.36. 31
17] 354|H & BRIk |&E 1 5.37.07 18] 238|Bpx bR ARM 1 5.37.82
19] 527(8m¥k ¥R |® - Bk 1 5.38.53 20| 210|141 BEHAO(RHEHS 1 5.43.08
21| 649l % JAHIE 1 5.47.52 22| 277 H K7 i 1 6.00. 21
23| 255[dbAR  MEL RS 1 6.14.43
hZ2EFZ14£1500m A LY
= [F5 K 4 PR RS
1 242 [#BH ¥ W OE 1 4.36.19
2| 242 |EH &1 =1 4.39.38
3| 218 |miH  F&IH LHEE 1 4. 40. 88
4] 362 /NI BEZAN | HEHE 1 4.44.03
5| 2048 |NjEE B FERC -5 1 4.44.84
6] 2046 |FiH MK MR C - 1 4. 46. 26
7] 241 |k FEA = B 1 4.53.65
8| 218 |FEt  KIE (LA 1 4.54.08




th 2

B+ 2%H1500m

o]
)

JIE AL | I5Y 4 ER v C RO 8K A NEAL [ 5 I5Y 4 ER RLEK
1 1]4-103 F#H: BHAE |owow 2 4.25. 60 1 2] 523[kA Kk |l & 2 4. 26. 64
28| 3| 367|EJR  FEE [MJjium 2 4.27.64 o 4] 209mAk  FoiE [MTRE 2 4.28.23
O 5] 217[HEMH {BE |[#EHF 2 4.28.53 0O 6] 309|miA —FH | ZE 2 4.31.50
o 7| 853|#&%IL EME [ A 2 4.34.90 ol 8] 309[ilbpm K= [hH IE 2 4.35.35
o 9| 875|+J= ¥ Bk mM 2 4.35.48 0| 10| 875[F PBx B 2 4.36.79
ol 11] 302|mHE  fiEE [BcF_— 2 4.36. 84 of 12] ss3l/hvk EER /M8 A& 2 4.37.03
o[ 13| 805|¥WEAf A& | K W 2 4.38.78 o 14| 304|EA  FER [BcHFMH 2 4.38.84
O 15| 354|fFA =il |%B 2 4.39. 24 0| 16| 726[F& (& U5 #E 2 4.41.42
0| 17| 805[miHH EHEX | K ¥l 2 4.41.51 O 18] 30[WHIL FRME lowmrsr.w 2 4.41. 67
0| 19| 722[F% WwH |— K 2 4.43.50 0| 20| 86424 Zn1FF [ H 2 4.46. 67
O 21| 8490  khi& |H & 2 4.49.23 0 22| 369PIJF/H $ |B2 K 2 4. 49. 68
o 23| 2182 e RES[ILHE 2 4.53.27 ol 24| 868|4 WA B B 2 4.53. 80
o[ 25 S|EPI ¥ [srdds - st 2 4.53.95 0| 26| 864[HY P&l |iH H 2 4.55. 54
o_27] 525|iLAkR FE [ 2 4.59. 88 0| 28| 846[AZH K¥E |4 & 2 5.00. 62
0 9085 fEE  |EeFPE 2 DNS 0
2| 1] 244K TR K F 2 4.39. 22 2l 2| 213|BH = THEHRE 2 4.47.25
28| 3| 502|f%km  #t * MW 2 4.48. 33 o 4] 366|EA L |E 2 4. 48. 44
5| 282|#cjk BE [ & 2 4.48.75 o 6] 268/ k% FAE |EHN 2 4.51.18
O 7| 618|ATH HEyR |HEH 2 4.51.54 O 8| 864[AfRH WEFH H 2 4.51.58
O 9] 502[1LiM f&® =X W 2 4.52.53 O 10| 301[#kdp PBEsh &G — 2 4.53. 14
Of 11| 362[HAF #¥ |HAEH 2 4.53. 26 O 12| 262|fnHH sHith [E#— 2 4.54. 15
o 13| 511|HF & |gHHKk= 2 4.54. 44 O 14| 262[F=% #&ih |&E#l— 2 4.54.53
O 15| 309[f)= K— | TE 2 4.56.12 0| 16| 281[HE @K o 2 4. 56. 30
0 17| 218[HHH K [ILHEKE 2 4.57.07 0| 18| 306K H Hil M FH 2 4.57.51
O[_19] 502[*F Y KBEZ |Z WM 2 4.58.33 0 20 241[#Ig = |= B 2 4.58. 41
0| 21| 255[HE Vst A 2 4.58.51 o 22| 241Gk A |= B 2 4.58.71
0 23| 364/ Bl |WGER 2 4.58.95 0 24| 236[BH5c PB&EBH |ZRAKE 2 5.01.47
ol 25| 262\ihA [ M 2 5.06.57 0 26| 849| L% A |H & 2 5.07.67
0| 27| 849[mfr JEZF [ JE 2 5. 08. 20 0| 28| 282[/KJI Mkt [ & 2 5.31. 46
31 1] 303[#FH M HEKASHST = 2 4.50.08 3| 2| 3231 L H PHE = 2 4.53.79
26| 3| e18[ 0 JHEih |HEIE 2 4.57.03 O 4] 352|E=A FHAK |DUfkmE 2 4.57.74
0 5| 368|H®E FAysE H 2 4.58.57 o 6| 652|WHFF FHE |FEME 2 4. 58. 67
O 7] 264/l 5LA |&E#IE 2 4.59. 88 o8| 217|#A fdth  |fedfFE 2 5.01.63
O 9| 507|Hlk fFogrBe i 2 5. 03. 80 0| 10| 244[3E #hsli | K F 2 5.08.33
o 11| 371 E FE [EEJIAL 2 5.08.92 O 12| 309/ kK& HE#H (A 3E 2 5.10.91
o 13| 906|x— HEE [ JE 2 5.11.26 o[ 14 303k KBt |[BFGF= 2 5.14.79
O 15| 235 H mWME |& B 2 5.15.37 o 16| 908|/ ks f#K [EeZEE 2 5.15. 54
O 17| 250[% —FA |K W 2 5.15.88 o[ 18] 235|HH % £ 2 5.16.51
o[ 19| 649  Ei4h  [J\HE 2 5.18.08 0| 20| 906[F& T 5 8 2 5.19. 07
o[ 21| 511Hc bl |gHHk= 2 5.19.21 O 22| 236[FJI  MES}F R 2 5.19. 66
o[ 23] 352l & Uk 2 5.21.75 0| 24| 868| EA 54 (B B 2 5.22. 34
0 25| 522\ i [HHE 2 5.26.34 0| 26| 303|FMH Hm |[MhEF= 2 5.33.76
0 263[FH HE M= 2 DNS 0 250|FFH PEA (K H 2 DNS
4| 1] 242(fkm &S [ T 2 4.35. 44 4| 2| 211|Fh WEK |HITHA 2 4.43.19
250 3| 211[pkN BE |HITHE 2 4. 46.62 o 4 245|F F L+ ¥ B 2 4. 46. 89
O 5| 8h3[EH KB M1 A& 2 4.57.09 0 6] 305l HBH |H B 2 4.57. 14
ol 7] 943[EXK 15 HEE 2 4.59. 05 O 8| 943/ $hep | HIE 2 4.59. 06
o9 211|[&m%¥ ElL |HiTH 2 5.01.76 0| 10| 243[lukt FBHE |[ZKAKIL 2 5.05. 14
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9] 363 |RIJIl K WER 1 2.47.23 10| 245 |#% ®EFE i 1 2.47.45
11| 531 |#H HF E X 1 2.47.96 12| 369 [#6K == K 1 2.47.97
13| 523 |BAXF ZFHE g 5 1 2.52.64 14| 218 |E% &1t W HAE 1 2.53.55
15) 132 |lE EE H@EZ 1 2.53.79
3 1] 306 |{Fixk HE WA 1 2.47. 21 2| 363 | X% &5 WER 1 2.47.91
3| 133 |HB = HE@E= 1 2.48.63 4] 622 |[AIR SH=F E F 1 2.49.31
5| 502 AKX EIB £ H 1 2.49.74 6| 868 |fEF EH#E B 5 1 2.49.76
7] 235 |F%FHE Xki= 5 & 1 2.50.47 8| 853 |8 F®W B & 1 2.50.55
9| 504 |FEH #MEF |EEM— 1 2.50.76 10 262 |#af@ @0 (=g - 1 2.51.74
11| 250 |&58EI B A H 1 2.55.55 121 892 |sxH ¥ % 1 3.03.25
13| 272 |mE {&A Bl i B 1 3.09.76 236 |#K EHF ERA A 1 DNS
4 1 255 [$y0O0  ¥1E E AT 1 2.35.19 2| 264 [Nk WEF = 1 2.53.29
3| 502 |[EAXR [FDhH % H 1 2.54.04 4| 849 |HFx #HFE B & 1 2.57.12
5| 8 | K& EEZE IRfE- R | 2.58.58 6] 540 |MAX £FE B A ith 1 2.59.03
1] 522 |[$H# BT PRE 1 2.59.35 8| 618 |/h iy EB7E HEZ 1 3.01.68
9| 261 /hfE %A = — 1 3.03.30 10| 235 (@& &HTE 5 & 1 3.07.03
11] 853 |HIII EE B & 1 3.07.39 12| 366 |fkE HMEZ [ 1 3.08. 11
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5 1] 255 |He @K AT 1 2.37.41 2] 237 |58 WE KAE 1 2.40.76
3| 277 |KH =3 froy 1 2.48.99 4| 849 |FA#H = B & 1 2.50.07
5| 305 |fAAR FK 2 H 1 2.51.27 6| 243 |5 H KiK3 FAI 1 2.52.96
7] 242 | Kl _2F E 1 2.53.04 8| 364 |BE)Il EHFF |[MAEE 1 2.57.05
9| 527 |B% % E-BH 1 3.01.41 10| 264 |#BH MK =HmE 1 3.07.09
11] 132 |lLA & HE@m— 1 3.08.03 12| 540 |E1E EM® B8R J& ith 1 3.10. 71
13| 943 |IUAR X FETE 1 3.29.47 263 |sEfE A% EH= 1 DNS
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4 255 |$70  ETE F AR T 1 2.35.19[ -
b | 262 |gixx A 1= - 1 2.35.34| -
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7] 603lAAR B (@ JE. 2 5.09. 00 8| 245[E )il - |WE BE 2 5.09.20
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11| 218|844  ME=E HE 2 5.14.99 12| 849\ ZBE [H ¥ 2 5.15.70
13 NENEEE Y 5.16.22 14] 204/ A/E A b 2 5.17.72
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Bl 4] 262 85K #HEF | = 3 19.06] s&| 4| 238 |ElL A7t *Am 3 17.27
1.1 bl 236 | KA #ME XA 3 19.26] 0.4 5| 235 |&X IED 5 & 3 17. 65
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210 KH fE1 wWHAN 13 238 kM # KAM 1 3
210 FI ER WHA 1 4 238 M4 B4 KAM 1 4
261 WA ERE - 11 869 (L B # 11
3 | 261 JEEJII EE3F EH— 1 2 57.43 4 [ 869 HIMH O i 12 58. 62
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